B 0 AR (HoF) 13 7 (1K) BT 208 B 00 3

VAN =)
R . N~ AEREERES S
- 5 W O(K) BT
i (%) i 5 W oa | E A L LA # L RS
& 3,258 686 1,991 581 2,966 651
, ,036 3,376 962 - -
= = 6,374 2 £ ®w E 212 32 156 24 150 26
E R S 276 80 184 12 - - 5 B B 67 8 34 25 62 8
# & B 124 45 52 27 - - s F B 59 13 30 16 56 13
2 £ B 122 73 42 7 - - 5 o® B 71 10 59 2 70 10
R - 197 19 167 11 - - % B B 69 9 50 10 68 9
® B B 316 46 234 36 - -
W B B 44
TR B! 444 222 222 - - - wm B A 90 i(sJ %Z zg gg ig
& B 7’ 125 75 41 9 - - % g B :
B - -1 87 20 42 25 87 20
% ﬁ ? 2}& gg 1(1)3 66 - w ok & 49 12 33 4 a7 12
LA O O is 5 1 . C _ BB R 70 11 32 27 65 R
sz o8 %W 1 o o TER 0B o8 3 ovop o4
S 2 1 ° I _ _ S 64 50 6 8 2 12
Bz o B 20 17 - - - R 37 19 17 1 32 18
E 8 1=4 347 166 146 35 - - H B ] 112 20 56 36 112 20
& W B 12 3 6 3 - - 5 W =& 35 9 18 8 35 9
bl n Ji=N 54 4 47 3. - - A n 7 41 8 27 6 41 8
1 =] 17 - 15 2 - - B/ OF B 35 7 22 6 34 7
B 358 66 246 46 - - 1T~ S -} 64 7 37 20 62 7
B B R 1,647 901 678 468 - - E ® R 120 17 36 67 120 17
- N ! 31 5 21 5 - - g B B 99 14 55 30 86 14
% M B 13 10 3 - - - -
B R OR 12 2 18 5 N - Boom R 74 21 49 4 58 20
E 2 & & 07 3 97 - - E & R 88 30 48 10 75 30
% B M 30 2 S 18 - - = &5 ﬁ 69 13 47 9 63 12
2 = 50 7 42 1 44 7
®OOH W 55 6 49 - - - N
* BR i 84 84 - - - - P R ;s 44 11 32 1 38 11
£ B R’ 73 61 12 - - - *x K K a4 33 10 1 41 31
%z B R 379 116 205 58 - - £ B R 91 21 70 - 75 21
oz [} 119 13 86 20 - - # B 47 10 20 17 44 10
6 mom " . u B ) _ F1o# W B 50 7 36 7 50 7
B R B 49 10 2 13 - - B m &
B oo R 181 18 1% i - - 5 B 2 8 @ 1w a8
O 88 13 65 10 - - Boow R 78 10 56 12 71 10
TR = N1 39 11 25 3 - - ) :
BB s 86 13 67 6 83 13
g ﬁ % 12% gg lg'{ 17 _ - i H L 56 14 37 5 55 14
] =1 - - -
T B B 141 19 106 16 - - ' B & 50 4 38 8 49 4
s m u 18 19 12 17 - - R G 43 5 38 — 41 5
# B 0o=® 18 12 5 1 - - A 70 12 44 14 70 12
s R 53 9 25 19 47 9
g 1%:—:; % I - % - - - ® B R’ 97 23 66 8 96 23
A& R 79 20 57 2 - - t ' | 37 5 49 7
X 5 &S— 55 27 24 4 - - =3 53 7 ‘713 373 70 1 69 8
CHE BN 10 1 8 1 - - 55 j}i i:t 04 11 62 21 89 11
1 58 11 36 11 56 11
K -3 79 2 76 1 - - A =
45 & H 1 ° 3 - B E oy ®’ 44 9 28 7 34 9
B R B R 96 14 73 9 90 14
L. 53 10 15 28 36 10
. ARRAEBRET ST (X) WINK
; BER= = 100
) B () AR X
— 88— g~




13 1 (X)) BTADLAREEDFRERI (00&) 14 SERAEOBE K (4&F)

'\ i) %
"‘E(QM“"E;’; . 2 B % 00
% , TR EE X 2 O m® Hr o
By K #o|w @ | #t
= - 1,816 499 91.0 949 91.2 85.9 &t 13,909 9,177 4,288 434 1 9
s
W 112 12 70.8 8.3 718 50.0 R 2,089 1,499 530 59 -
¥ & n 32 22 92.5 100.0 94.1  88.0 | AR 88 E & 7,609 5,020 2,363 295 — ]
2 = & 30 13 94.9 100.0 100.0 81.3 Z Dt E 4,211 2,658  1.39% 150 1 7
= & & 58 2 986 100.0 98.3 100.0 .
* - B 50 9 98.6 100.0 100.0 90.0 " G 11,819 4,055 6,461 1,297 3 3
Bt .
) HE - SR 3,606 1,202 1,91 442
2 27 4 100.0 100.0 100.0  100.0 2 ' ) , 1
B B 52 27 98.9 100.0 100.0  96.4 T ims Sot5 1w 1708 3% Z
® B 12 25 100.0 100.0 100.0 100.0 ’ ' 1,703 273 -
O 31 4 959 100.0 . 93.9 100.0 2 «
® B R 29 25 92,9 100.0 90.6  92.6 g +t 24,783 12,343 10,423 1,960 -
B R - SR 10,995 4,870 4,9 , -
% £ B 39 11  100.6  100.0 100.0 100.0 A R 6,495 3,305 2,632 1129 Z
+ = & 36 5 83.8 100.0  80.0 100.0 Z ot E 7,293 4,168  2.810 297
;S 2 1 45.3 52.0 33.3 12.5 .
Mmom o & 14 -~ 8.5 94.7 82.4 = .
w OB B 56 36 100.0 100.0 100.0 100.0 & 13,539 8,931 4,165 433 1
4
RRNTTR 18 8 100.0 100.0 100.0 100.0 b CE | 1,99 1,435 494 59 -
5 N R 27 6 100.0 100.0 100.0 100.0 | ARMER 7,471 4,917 2,328 225 -
Fe 18 22 5 97.1 100.0 100.0 83.3 A T DADERE 4,079 2,579 1,343 149 1
Lo R 36 19 9.9 100.0 97.3  95.0 j
E 5 K 36 67 100.0 100.0 100.0 100.0 . Bt 10,223 3,549 5,539 1,129 3
#5 B 2,790 974 1,463 352
8 48 24 8.9 100.0 87.3  80.0 L , 1
% % " 37 1 784 9.2 755 25.0 | e R =S 4,195 1,156 2,517 519 2
T & R 41 4 8.2 100.0 85.4  40.0 \ T OMWOMER 3,238 1,420 1,559 258 -
= ® =& 42 9 91.3 92.3  89.4 100.0 & -
W m R 36 1 8.0 100.0 8.7 100.0 o ; 15,199 8,978 5,537 627 -
ROXE B 6,162 3,317 2,513 -
OB W 26 1 8.4 100.0 8.3 100.0 B | &R E = 3,623 2,255  1.221 T -
*x & W 10 —  93.2 93.9 100.0 — Z oftioo B A 5,414 3,406 1,803 187
E B B 54 — 8.4 100.0 77.1 - i
%= R B 18 16  93.6 100.0  90.0  94.1
I TR ) 36 7 100.0 100.0 100.0 100.0 Xy 370 246 123 1
w
B m B 31 4 100.0 100.0 100.0 100.0 5t K 100 64 36
R ) 38 6 8.1 100.0 92.7  60.0 | &R ESR 138 103 35 -
= BT 53 8 9.0 100.0 94.6  66.7 & Z Dol 132 79 52 1
B R 65 5 965 100.0 97.0  83.3 ]
W oo’ 36 5 982 100.0 97.3 100.0 " At - 1,59 506 922 168
5 B 816 228 498 90
£ B R 37 8 980 100.0 974 100.0 o A 503 228 i i
A S 36 9.3 100.0 94.7 % DHLOBE 217 118 144 15
g & B 44 14 100.0 100.0 100.0 100.0 "
B R 22 16 887 100.0 88.0  84.2 i " 9,
' B B 66 7 99.0 100.0 100.0  87.5 IE 584 3,365 1,886 1,333
Bl wm B 4,833 1,553 2,472 808
T ® & 37 5 100.0 100.0 100.0  100.0 | &R EE 2,872 1,060 1,407 415
E & & 60 1 8.3 100.0 8.7 100.0 % Dt B 1,879 762 1,007 110
. 60 18 947 100.0 96.8  85.7
*x & R 35 10 9.6 100.0  97.2  90.9
' B R 21 4 77.3 100.0 75.0 57.1
B R B A 68 8 93.8 100.0 93.2  88.9
W & R 10 16 67.9  100.0  66.7  57.1
—90 — —91—




